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.DEXSDWHQ�7DQDK�'DWDU

3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHQJHWDKXL ���� (NVLVWHQVL� LQGXVWUL� WHQXQ�
VRQJNHW�3DQGDL�6LNHN���GLOLKDW�GDUL�PDVD�ODOX��VHNDUDQJ��GDQ�PDVD�\DQJ�DNDQ�GDWDQJ�
���� )DNWRU� SHQ\HEDE� EHUNXUDQJQ\D� MXPODK� LQGXVWUL� NHUDMLQDQ� VRQJNHW� GL� 1DJDUL�
3DQGDL�6LNHN� ����3ROD�SHUVHEDUDQ�GDUL�LQGXVWUL�VRQJNHW�GL�1DJDUL�3DQGDL�6LNHN��

-HQLV� SHQHOLWLDQ� \DQJ� GLJXQDNDQ DGDODK� SHQHOLWLDQ� NXDOLWDWLI� GHQJDQ� PHWRGH�
DQDOLVLV�\DQJ�EHUVLIDW�GHVNULSWLI� 'DWD�SULPHU�GLSHUROHK�PHODOXL�ZDZDQFDUD�ODQJVXQJ�
GHQJDQ� SHPLOLN� LQGXVWUL� WHQXQ� VRQJNHW VHEDQ\DN� ��� RUDQJ GDQ� :DOLQDJDUL 3DQGDL�
6LNHN��7HNQLN�SHQJXPSXODQ�GDWD�GDODP�SHQHOLWLDQ�LQL�PHQJJXQDNDQ�WHNQLN�REVHUYDVL��
ZDZDQFDUD�� GDQ� GRNXPHQWDVL�� 7HNQLN� DQDOLVLV� GDWD� \DLWX� GHQJDQ� FDUD� UHGXNVL� GDWD��
SHQ\DMLDQ�GDWD��GDQ�SHQDULNDQ�NHVLPSXODQ�

3HQHOLWLDQ� LQL� PHQJKDVLONDQ� EDKZD� ���� (NVLVWHQVL� LQGXVWUL� WHQXQ� VRQJNHW��
VHPDNLQ�PHQXUXQ NDUHQD�SURGXNVL�NDLQ�VRQJNHW�\DQJ�MXJD�PHQXUXQ ����)DNWRU�\DQJ�
PHPEXDW� LQGXVWUL� VRQJNHW� WHUVHEXW� VHPDNLQ� EHUNXUDQJ� MXPODKQ\D� DGDODK� VHPDNLQ�
EHUNXUDQJQ\D� MXPODK�RUDQJ�EHUWHQXQ�NDUHQD�JHQHUDVL�PXGD� VHNDUDQJ�NXUDQJ� SHGXOL�
WHUKDGDS�WUDGLVL�EHUWHQXQ GDQ�MXJD�EDQ\DNQ\D�NDXP�SHUHPSXDQ�\DQJ�PHPLOLK�EHNHUMD�
GLVDZDK ���� 3ROD� SHUVHEDUDQ� ORNDVL� LQGXVWUL� WHQXQ� VRQJNHW� GL� 1DJDUL� 3DQGDL� 6LNHN�
DGDODK�SROD�WHUVHEDU�PHUDWD��GLVSHUHG�SDWWHUQ��GHQJDQ�QLODL���������
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